NOTE: Please consider Red Marked Answers as right.

1 What is a baby whaie caned'? -
@) | Calf ~  (B) Pup--

3 Who is the author of * The Golden Gate’?

(A) | Vikram Sehgal (B) | Rabmdranath Tagore

(C) Arundhatl Roy W

(@ ! Vikram Seth

- \Nhtte tower' and ‘Paletine Tower' are parts of Wh'Ch of these r monuments’? N

E(A)  Eiffel Tower (B) | Red Fort \ -~
'"{C_) Leaning tower of Pisa o

4 YELLOW FEVER is transmttted by bltmg of whzch insect?

(A ]  Tsetse fly (B)  Bee

| @ Mosqunto - (D) Killer bee
5 | Sound waves cannot travel n____ -

_(A) e T v

(C) SOiId (D) | hiquid

. Tower of London'

6 The Natlonal Anthern of Bangladesh was wntten by

" (B)  Munshi Premchand

I‘@ Rablndranath Tagore (D)  Muhammad Iqbal k.

7 Whlch is the first Indian State to use Electoral !dentity Cards?
'@® Haryana « (B) | Gujarat
(C) Maharashta (D)  Tamil Nadu

8 | Whrch of the followmg family of animals dont have lungs?
' (A) | Birds S Amph'rblans
(C) Reptlfes ' - | (D) " Fishes NoF

9  Who was the ltalian ane Mmlster durmg World War n?

(A) """""""" Otto Von Bismark 'y (B) Adolf Hitler

(C) | Sir Winston Churchill

| @ Benito Mussolini \—~

10 | The Flag of whnch country has a unlque shape of two over!applng right tnangies?

(A | Japan (B)  Bhutan
: _(6) Bangladeelh . YN (D) South Korea \__/
11 Who appoints the Chief Election Commrssroner oFindia?
'® | President \ (B Prime Mmlster
(C)  Home Minister (D) Parllament
12 | ‘Calorimeteris an instrument used to measure
l_i_A) i P.r_e_sga.r_,e T P O (P S S et~ e = S Lty AT T (B) AItitUde i —
I S © Fieai \/ .
13 | 'Agha Khan Cup” is assoc;ated with whlch sport'?
(A) | Badminton  (B) | Archery
(©) [HorseRiding (@) Hockey \
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14 | Who is the longest s serving Chief Mini er of Gu;arat'?
@ [ShiNaendaWod — {5 | Shi SharkersR Vage————
(C) = Shri Keshubhai Patel
15 | Which is the highest dam in india?
& 1}
L] (C) = Sardar Sarovar dam
16 | The home of who among the following is faried o Malgudi Home?
B T Shiorem Kam e B T
% TR g;aﬁ _______________________________________________ LI L — —
7 ooaa e RSP L 1 il N o
'@ | Asearchengine N
(C) | A web Browser
18 Which is the largest river in the world based on Volume’? y !

(A) | River Nile
(C)  River Brahmaputra -

19 | How many rings are there on the Ofymplc Flag’? Fw
G T
13 o NN ———
20 | Which actor’s real name is Krishna Pandit Bhéﬁ]i';'? """ - ) @
(A) | Jake Gyllenhaal (B) BenKingsley \ -
(C) \ Amrish Puri (D) Tobby Kebbel
' 21 Abag contains 25 paise, 10 paise and 5 paise coms in the ratio 1:2:3. If total value is Rs
30, the number of 5 pa[se coins is 30
A) 1150 (B) 1125
_____ e — . N 72 o

22|

___1© 10 jecti8 4= 8 t9c [ (®) 00 i
23 | Which of the following sets are not the sndes ofa tnangle’? :
RECE /\ A TR R
S T5mem. T IS O ! ] —— |
""" 24 | The sum of all the""tnterlor angles of a pentagon s
® | 540° ®) xR A -
(C) | 360° O
25  The father’s age ‘was 5 ttmes hIS son’s age 5 years ago and will be 3 tlmes son s age

A) |
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26

27

28

SR =
\)t

& (% - _ R & ==

(C) 30 (D) | 33.33

If Iength of S|des of a square are doubled, then % increase in area is

(A) - G iaii ——
ORI e S
| Erga' |_é_m easured e R

= \/ 5 — —(é) | e s
?_(C) ’ S (D) | None of the above B

29

30

TA person ‘earns Rs 32000 a month out of whlch he saves Rs 8060. Ratio of his income

to his expendlture is \— . |
(A) T T (B) TR — & 3
1(C) [133 oy 150 o §
A scheme offers “Buy 2 get 5 then % dlscount :s N

(A) [20% N\~ : (®]40% o & IS
(C) 60% (D) 80%

Whrch is the largest value'? S " _* .

( 1 1111 e foer (Bi 0111 i . .

(C) ¥ B D) | O T4

! 32 | "Inho how many years Wl" Rs 1600 fetch Rs 288 as SImp]e interest at rate of 9%

(A) 3 ‘ : : (B) T N qu)éj ,l . .
—@ H \7___ S (D) _____ T -
33 At time 9.30, the ang[e between minute hand and hour hand is
5 ?(A) P et B 90
G [705° \/ - ; ©) 1200 e
34 ’“66:?1’ lete the series: 51, 52. 63, 94,46, = Wi
o LA R S A — LY _ T, S el . -
_____ | ©) |27 = oy #8018 g
35  Area of right ang!ed trlangie hav aving ides 3m 4m and 5m is | ’( ,
LALLM SR IL L, z&» T
[0 6 R e
36 | The value of grawty acceieratlon g IS
(A) | 981 cmisec - T@ 981 m/sec’? o
(C) | 98imisec -~ (D) ;981 cm/sec®
5_57 One liter of water has a Voiume equal to__ - -
(A) "1000cm® o ”@’ 1000 cc.
“(‘6)—_153 ______ e o) :EAII R

DG/JA/B 5 °



©38 The geometrical shape which gives maximum area for a given perimeteris a

| | < ) 0o = d
T | T e v --;\\ ‘L_.. oAl - o
| ' (C) | Square (D) Hexagon \_/ :
' 39 | Average age of group of 10 girls and 20 boys are 17 years. If the average age of boys |s
' 20 years, then average age of girls is
| TR __fB) _____ "ﬁ"'S"feérs' ___________________________ - o
: CREL yeérs o T years S
) é e i"_ﬁfﬁmatlon e naturaleers from e 100 —
9. (A) | 2000 " (B) | 2400
:5: oy e (el T § __+f
i i Tsamens et e Rl R |
"Ca’ " (A) | Less than 1 ' j@ Equalto1 \— \ &
| % (C) | More than1 (D) | None of the above - |
t !:_‘ | Vendor bought toffees at 6 for a rupee. How many for a rupee must he sell to gain 20%
Ig ' l?oc‘) profit?
e T s " & |
H | e T -~ TORE R N — .
743 | 18 men can construct a building in 40 days, If this building is to be constructed in 24
2l /‘\ days, how many more men should be engaged? \8 W0
% ; ( \-\'Og—(A) _____________ _1 _8 _________________________________________ ) __(B) ____________ 14 ...... b (}_ _?L}:__
%] 9 1. 1l s ]
"q 44 | The ratio of 9 hours to 1 day is . R Bk '
1% _ = d ¥ .
60| ®) [35 _918g2yN@ e T o T L,
3). |20 (C) [27. T Al 2. @) 58 St
38145 A curcular water tank with 1.0 m. radius and 1.0 m height cé_ﬁ store___ Ilters of water

3 ... (A T1000iters (B) | 785 liters
39 5 i _z(_'.?) 10000 liters (D) 3140 hters
34 46 e p}oper eﬁff|x for Appomt i e e s N SN
W (A) [ mint 1 (B) | Less '
3 Al L N————
wS| 47 | Change the noun |rii_c3 Cerb Application ' -
(1% (A) | Applicant. - (B) | Appliance - -
" ol -_@_ 2o . Al R A'Ebiidab!e _________
si | |CgpeNpun Tt varkcinteion — ]
o3| L [ggsion e L
S } ' (C) | Intensity i(D) Intention
<y 49 | Select the correct question tags: Mayur wﬂl come for work today
F
i (A)_
51 o
AR .
G 30 5 8s0 @) X
€3 pomas ?3 400 X3
6l a8 - e S
F4 [veo v




Select the correct questron tags | am Honest
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'(A) Didnt1? (B) Am1?
;'(C) " Am not 17 O Arentl? \__-
51  In spite of their efforts, they could not make much headway. Replace ‘headway’ witha |
suitable word. |
(A) |Results \ ~ ' | (B) | Efforts
| (C) | Thinking @ Progress
| 52 | Srnce the officer was overburdened wrth work her colleague decide to |
(A) Gwe  away ) @ lee her hand \_/
| (C) Gwea handful - (D) None of the above N
53 | Choose the word 'l'nrhlch is exact opposrte to Taotful _ o 4‘
TrDlscrpllned sk il e @ T = _
) (StrIEt_ S o7 Loose \/ y 4 *_:
54 | Find the word with S|mllar meanmg to Rendezvous |
@ MEé’llﬁ'g place \/ (B) | H|d|ng place
(C) l | Public Place (D) I Resort
55 | Find the word with srmrlar meamng to__Po_ndEr__ S
E @ | Think ~ 1 (B) | Increase W
(C) | Anticipate ' (D) Evaluate \/ .
| 56 'mt?y"the correct sentence S y .
(@) Theofficemovedtoanew | (B) | The office moved to a new apartment
| apartment on 12" Street. \/ | in 12" Street.
. [ (C) [BothAandB | (D) None of the:above
I = rldentlfy = grammahcally o o - . i .
' ! (A) | The works going pretty good. | (B) | The works éomg pretty weII.
. /© |BothAandB _*@ None of the above. \_- ‘
| 58 | Identrfy the grammatlcally correct sentence. '
(A | I did my ‘work quick. (B) | I did my work very quick.
i © ! 1did my work qurckly \/ ~ (D)  None of the above.
59 Mukesh is he wetghs all optlons before makrng a deusson
| ") | | Careless ~ (8 [Bold
. (© Educated \,» . O  Thoughtful
60 The employee was threatened ___dire consequences
A) ‘ FFOm 0 i @ By \/
o owe. @ o
61 him, because of his
| (A) | Love, impertinence . I @ Hate, rudeness L\
(C) | Admire, hypoo'rlsy" - (D) | Detest, generosity .
| 62 f Do not hrm he has done no harm to any of you
(@ Jheers .~ [0 [Admie
| (C) | Drscuss (D) D!ffuse
¢



(A) |'In time

'W: At par e

(AR

T(ff_ml ________________ |
65 | No sooner had he entered the room |
e S Sl T S 1
A T but |
@ than V 41

Comprehension (Question: 66-70)
The first step is for us to realize that a city need not be a frustrater of life; it can be among other F
things, a mechan:sm for enhancing life, for producing possibilities of living which are nottobe |
realized except through cities. But, for that to happen, deliberate and drastic planning is |
' needed. Towns as much as animals, must have their systems of organs-those for transport and \
c;rculatron are an obvious example. What we need now are organ systems for recreation, !
lelsure culture, community expression. This means abundance of open space, easy access to
unspool Nature, beauty in parks and in fine buildings, gymnasia and swimming baths and

' recreation grounds in plenty, central spaces for celebrations and demonstrations, halls for

' citizens' meetings, concert halls and theatres and cinemas that belong to the city. And the
buildings must not be built anyhow or dumped down anywhere: both they and their groupings
should mean somethlng Imporlant to the peop!e of the place

' @ these can be mechamcally . (B) prOper transport system is mtroduced

| developed L
(©) ' cinemas, theatres and concert halls (D) ‘these ";"a'Fe“"fHau'g'hffL'fti'faﬁa vigorously |
| P ' are established there. \//e5|gned to serve peopie s needs
. 67 | Asuitable title for the | passage would be : f
(A) | Towns versus Animals. ' (® | The Need "fa"r'""lﬂ'léH’hé&“’éiii’é’é’"L""
(C) ' Transport and Communication (D) ‘The Need for Entertainment Centres
System in a City. ‘- in a Clty " '

|_(?\) one does not expect fulfillment of all | (B ) a city does not necessarily lift man's

life's requirements from a city. " standard of hvmg
(©) ; city life provides all the essential | (© | "a city should not defeat the fulfilment '
_ | needs of life. Vof life's asp!ratmns and aims.
. 69 | Which one of the f following has the opposﬂe meaning to the word frustrater in the
’ passage? *
] Applauéi'ef ______ T |
Bh | oot (_5) Execute} e s
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70 | The word drastlc in the passage means

@ | powerful (B) orderly\er
' (C) | consistent o " (D)  determined \_~ -
71 ISP stands for - ]

" Internet Service Provider \/ G ' International Standard Project

—((q)j Internet Standard Programs (Dj | None of these

(A) | To store most frequently required | (B) )
=( ) l or 9 y q E( ) - To store backup files

|  files
© ' @© | Torestore deleted files \— 1 (D) | Al of above 7
73 In wmdows OS, to switch between d:fferent appllcatlons ...... combmatlon of key is used _l
TR T e et ©® At+Tab
(©) At+Cul -~ ~ (D) | Alt+Shift+Tab
| 74 VIRUS stands for
(D) Virtual Information Resource ?(B)_ | Varied Information Resource under
Under Size (seize) - ' size
(C) | Very Information Resource Under (D_) ' Virtual Information Resource Under
Size . ' Show
75 Loadmg of the operating system in the memory is called
- (A) | Uploading 1(B) | Downioadmg
‘(C) fnstaiﬁng S |® i, V
76 | InMS Word, to change the case of the letters after selechon press '
@ TR T \/ : _,, TR Ctrl e - T
(C) f Shift+ C ; (D) ' None of the above
i i Generali;;vmnge_green mgzag line under the word in MS Word, which has ......
| error.
I.__(A) | F‘ormathng ‘7‘ ..... . ____ (B) Spe"mg \/
@ | Grammatical - _5_(D) Capltahzahon N -
78 | You can select word by press:ng In MS Word S -
(A) | Dragging '\ -~ -+ [ (B) | Alt+Shift + Cllck
(C) | Ctrl + Click @ i Double C!rck
""" 79 | In MS Word, by defautt there |s I|ne spacmg
| T [Single M 9 R —
o Tnpie e None = the above =
- 80  Pick oui the wrong statement among the fo!lowmg """
A | A template stores styles and ' (B) | Atemplate stores customized word
| ' macros - command settings %
(C)  Atemplateis ablueprintforthe (@) = You cannot make changes in the
| textand graph:cs ) | ava:lable  temnplate \/ -
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31 | In MS Excel by pressmg Ctrl + Home you can reach at
] (A) .l ColumnA ® oell AT .~
' (C) | Atthe End of Sheet (D) LNone of the above
"""" 82 | In MS Excel, Formula begins wath. . -
— - § ® T B .
©-v O () "
| 83 | In MS Excel, the range from A1 to AT wril be denoted by
; ® TAAT TR
(C) | A1*A7 (D)  A1-A7
84 | To select entire row in MS E';{EEI press R = “‘
o T s N @ Sﬁ'iftj"gaééﬁ_a?“\y __________________________________ -
O TS Ty C'{rl_i'?mlli_o%ﬁe ______ ; ey I
85 shortcut lets you modify c'é'ir ooﬁteh{_{n 'MS Excel. A
(A) | Shift+ Enter ~_/ (B) [At+F1 A i
O L IR S F »n
86 | To start the slide show in Power Point, press Key :
AT RTCBL I b S T— |
S B N o T N Y .
87 | Which of the following can be prepared in Power Point Software? B B
e ® 1 o — \-/ _______________________________________ .
(C) | Database (D) Fmancral Spread Sheets
% [Ch Dhashotatiy sl & ]
*) :I?;aengmg Sl of the adlive 1 (B) Deleting a slide from presentation
, @ Creating a duplicate slide \/ _L (D) | Inserting a new slide .
89  The smaller, printable versi'o_n' of the slide |s'!'mknown as
' (A) | Outlines \— - ' (B) | Handouts
| (C) | Speaker’s Note (D) | None of the above -
M e TR sho{n}'ﬁ"oﬁ _____________________________________________________________________________________ —
(A) | Computer Monitor  \e- ('!‘3)”' Film PrOJector B
O [ Crahe e PR T —— T 3 D —— R S—
Ak ;S O | Al ofthe above N
T = o Wb e ———— .
AN e ey Tennenbonm —
® Mmoo o these i N .
92 "'Which one is not a database management system'? - -
[ > B TEepe .
o e -t Note P"éd ______________
DG/JA/B 10



93  The central processing unit (CPU) consists of

(A) - (B)  Control unit, primary storage, and
Input, output and processing ._ ,
- secondary storage

(C) Control unit, arithmetic-logic unit @) ~ Control unit, broc:_essing, and primary
i and primary storage storage \—~ '
94 | What type of device is computer keyboard? S
E___(A) i . R
| © ] S e ?"!nbut \/_
| 95 Personal Computers are the ...... type of computers
i (A) ' Super Computer (B) ' Mainframe Computer
'(C) | Mini Computer o (@) Mlcro Comp[ﬂé? e
96 | T The speed of CPU is measured n N
(A) ~+ Bytes e e TR
© | Hz \/ - (D) ' Sec o
"_9?;'"}'“1_390 e I L e &
(A) """ [ b i&;‘&éa’“ﬁ?’&@'ﬁisk """""""""""""""" @.. Digltat Versatile Dask Sl
C) Dlg!tal VariableDisk (D) '"Dlgftal Votume Drsk Y
98 | In which cfThe foilowmg we can store ﬁﬁax:mum data?
(}i)__C_D_ROM ......... — i Vo -
(C) lﬁ__ B F— (D) Floppy \/ ____________
| 99 | ‘The address given to Iniernet to PC is called
W |Systemaddress [ ntemét Address
(C) " Node Address @ IP Address q,;,/

100 | Flow Chart and Algorithm help us to
: @ ‘Specify Problem \/ "/ (B)  Know Memory Capamts}“
(C) Dlrect output to prlnter F . W (D) | Al of these
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